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5 5 1
Bignosige: 1) npu a < -7 ¢ € J; 2) upu a = 7 =3 ) upu a €
) 2++/4 5 1
6(—4,1>U(1,oo) xz%;@npna:l z= 3.
0 —

7.20. (a + 1)2? —azx —2=0.

Bimnosias: 1) mpu a € (—o00; —4 — 2v/2] U [—4 + 2v/2, —1) U (—1, 00)
/2

Tio = %; 2) mpu a € (—4 — 2v/2, -4+ 2V2) z € @;

upna=—-1z=2.

7.21. 22 — (3a+ 1)z + 2a* + a = 0.

Bigmosins: 1) mpu a # —1 z € {a,2a + 1}; 2) upua=—1 2= —1.

[}

7.22. 22 + |2| +a=0.

Bignosinp: 1) mpu a < 0 x = i%(—l ++v1—4da); 2)upua=0z=0;
3)upua>02x €.

. sinz = a,

7.22.* [1, § 45, mpukaan 9, c. 267] sinz —a+ 1.
Binnosinp: 1) mpu a € (—o0,—2) U (l,00) z € &; 2) npu a € (0;1] =z =
= (=1)*arcsina + 7k, k € Z; 3) mpu a € [-1;0] = = (—1)*arcsina +
+rk, k€ Z; x=(—-1)"arcsin(a+1)+mn,ne€Z;4)mpuac[-2,—-1) z=
= (—1)"arcsin(a + 1) + mn,n € Z.

7.23. 2t — 422 + 4a = a®.

Binnosinp: 1) npu a < 0 212 = £v/4 —a; 2) upu a € [0;4]
T12=%V4—a,x34 =%va; 3)mpua>4z2==+/a.

7.24. 24 + 222 40 = 0.

Bignosige: 1) uppa >0z € &;2)upua < 0z =+ -1+ 1 —a.

7.24.* [1, § 45, mpukmaz 16, c. 274]

2 — 222 —a = 0. Bignosige: 1) mpu a < —1 x € &; 2) npu a € [—1;0]
r=+vV1+tva+1;3)upua>0 z==+v/1++va+1.

7.25. 2% — 2a2% +a+2=0.

Bimnosins: 1) npua < —2x=+vVa+ Va2 —a—2;2) upua € (—2;2)
re€Y;3)mpuna = 2zr=+VvVatva®—a—2.

7.26. 2t — 2022 +a—1=0.

Bignosins: 1) mpu a < 1 2 = £vVa+va? —a+1;
mupua>1z==+VvVatva®—a+l.

7.27. 2t — 222 — 4% +2a = 0.

Bimnosinp: 1) npu a < 0z = £v/2—a; 2) opu a € [0;2] 12 = £vV2 —q,
x34 = £/a;

3) mpm a > 2 = £/a.



7.1. PiBHSIHHST 1 HEpIBHOCTI 3 MapamMeTpoM

7.28. 2% — 2a2® +a = 0.
Bigmosige: 1) mpu a < 0 2 = +£vVa++va? —a;2) upu a € (0;1) z € I;
Nmpua>1z==+vVatva®—a.

7.29. az* — 222 -3 =0.

Bimnosine: 1) npua < 0x € &; 2)upua >0z = i\/Haﬁ'

7.30. az? +2(a —1)z® + 1 =0.

-V =

Bi,ILHOBi,ILbZ].)HpI/Ia<0£C::|:\/1 a Z 3a+1;2)npna:0
_ _ Ja2 —
x—i?;3)npﬂa€<0,3 Qﬁ}z—ﬂ:\/l atva 3a+1;
a

4)npna>3_2\/5x€®.
7.31. az* + 42> +5—-a=0.

9 _JaZ =
Biguosias: 1) HpI/Ia<0x=i\/ 2 aa 5a+4; 2) upu a € [0;5)

YN -
r€W;3)upna =25z == 2+ va 5a+4‘
a

7.32. (a+ 1)zt —2(a—1)2®> +1=0.

1z =
Bigmosine: 1) mpu a < —1 z = :I:\/m; 2) npu a € [—1;3)
—1+a =
me@;S)HpHaEBx:i\/W.
7.33. (a+ 1)zt +2(a—1)22 +1=0.
Ca— A=
Binuosige: 1) upu a < —1 & = :I:\/m; 2) npu a = —1
a
a4 A
r==+1/2;3) npnae(—l;O]x:i\/W; 4) npu a >0

T e .

[ ]

7.34. 22 —2x 4+ a > 0.

Bimmosins: 1) mpu e < 1 € (—00,1 — /1 —a)U (1 + 1 —a,00);
Q)upua=1xz€ (—o00,1)U (1,00); 3)mpua>12x€R.

7.35. 22+ 2x 4+ a < 0.

Bigmoeine: 1) mpu a < 1 x € [-1 — /1 —a,—1+ /1 —al;
2Q)upua=1ax=-1; 3)upua>1xecd.

7.36. 22 — (3a + 1)x + 2a® + a < 0.

Bignosigps: 1) npu a < —1 2 € (2a+ 1,a); 2) npua = —1 z € &
3) upu a > —1 z € (a,2a + 1).
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